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QUESTION 1

Which statement is correct regarding User-Defined Functions (UDF)?

A. A UDF name can contain letters, numbers and underscores

B. Can be used in mappings and transformations however not in mapplets
C. Can be reused from a shared folder as shortcut

D. Can contain Java code snhippets

Correct Answer: A

QUESTION 2

When using the Joiner transformation and assuming that you are not employing the Push Down Optimization feature,
which statement is correct?

A. The data from the detail pipeline Is used to build the cache files used In the join process
B. The data from the master pipeline is used to build the cache files used in the join process
C. The cache files are built according to a sql override found on the Joiner Properties tab

D. The Joiner transformation uses the database to build the join result

Correct Answer: B

QUESTION 3
Please choose one of the following. In a static, non-multi-row lookup,

A. If a lookup search does not find a value in the search data, then the row from which the search is produced is
dropped so a balanced pipeline can be produced

B. If a lookup search finds the search value in the lookup data but discovers that the fields that are being returned from
the search are null, then the row from which the search is produced is dropped so that a balanced pipeline can be
produced

C. If the lookup finds two records that match the search key, it will return two records

D. None of the above

Correct Answer: D

QUESTION 4

When would a Lookup transformation be classified as active?
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A. When the setting for lookup policy on multiple match is Use Any Value
B. A lookup cannot be an active transformation

C. When the lookup is configured to return multiple rows

D. A lookup is always active

Correct Answer: C

QUESTION 5

Which of the following are supported file types, from which, an XML definition can be imported? Choose 3 answers
A. XML

B. XSD

C.DTD

D. DSDL

Correct Answer. ABC
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